98 26 6

A B_[(A-(B)Y] A B _[(A-B) A B [(A)-(B)
110.6 | 110.3 03] 19.2 | 189 03| 62.1| 61.8 0.3
116.7 | 116.5 02| 215 | 213 0.2| 64.7| 64.8 0.1
123.2 | 122.4 0.8 247 | 239 0.8/ 67.8| 67.6 0.2
128.2 | 128.0 0.2| 276 | 27.0 0.6 70.3| 70.2 0.1
134.3 | 133.6 0.7] 31.7 | 30.4 1.3 73.0| 726 0.4
140.1 | 138.9 1.2| 35.6 | 34.0 16| 754 749 0.5
146.1 | 145.1 1.0 39.5 | 38.4 1.1 780 776 0.4
153.7 | 152.5 1.2| 45.6 | 44.0 1.6 820| 813 0.7
160.5 | 159.7 0.8/ 50.1 | 488 1.3 855| 84.9 0.6
166.1 | 165.1 1.0 55.2 | 53.9 1.3 889| 881 0.8
169.4 | 168.3 1.1| 62.6 | 58.9 3.7] 91.3| 90.4 0.9
170.6 | 169.8 0.8/ 62.9 | 60.7 2.2 91.8| 914 0.4
170.8 | 170.7 0.1/ 65.0 | 62.6 2.4 925| 920 0.5
109.9 | 109.5 0.4 187 | 185 02| 61.6| 61.3 0.3
116.2 | 115.5 0.7 215 | 208 0.7 64.6| 64.4 0.2
121.8 | 121.5 03| 24.0 | 234 06| 67.0| 67.2 0.2
128.5 | 127.4 1.1| 275 | 26.4 1.1 70.4| 69.9 0.5
134.5 | 133.4 1.1| 30.6 | 29.8 0.8/ 73.0| 726 0.4
140.6 | 140.1 05| 34.8 | 34.0 08/ 76.0| 758 0.2
147.7 | 146.8 0.9 39.8 | 39.0 0.8/ 79.8| 79.3 0.5
152.4 | 151.8 0.6| 44.7 | 436 1.1 825| 821 0.4
155.2 | 154.8 0.4| 482 | 47.2 1.0 840| 838 0.2
156.5 | 156.4 0.1 51.0 | 50.0 1.0 850 849 0.1
157.6 | 157.0 0.6| 52.0 | 51.4 06| 859| 854 0.5
157.7 | 157.6 0.1/ 53.0 | 52.4 06| 86.1| 857 0.4
157.7 | 157.9 0.2| 535 | 529 0.6/ 85.7| 85.9 0.2
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